551 A=

2008 £ 7 A 10 B (X)

A& FFHDCP TR -
®%E: BUSRX 15~

NE sz BRE S & OUT | IN |GROSS| HDCP | NET
6 |#E EE 40 45 85 18.0] 67.0
261 {8 sh— 44 41 85 17.0/ 68.0
36 |=HE s 4] 4] 94/ 24.0/ 70.0
M |—8 BT X 45 46 91/ 22.0/ 69.0
oG |FRRE FEE o1 44 95/ 23.0) 72.0
661 |IRiEHE #— 42 46 88/ 16.0/ 72.0
M |HFE E5 43 45 88| 15.0/ 73.0
8 | kA A= 50 46 96, 22.0) 74.0
9L |#a K & 48 52| 100| 26.0/ 74.0
106 |2 i 51 48 99, 24.0/ 75.0
ez |=¥ a2 46 4] 93/ 18.0/ 75.0
1261 |p9t: FEX 49 47 96, 20.0/ 76.0
13 |l IEFD 96 95| 111} 35.0] 76.0
14461 B 5 50 49 99, 23.0/ 76.0
156 (W BE 48 90 98/ 22.0/ 76.0
1662 |&#H IEH# 50 44 94/ 17.0/ 71.0
176 |k & 93 95| 108 31.0] 77.0
18 (IkA AX 49 48 97/ 19.0 78.0
1962 |F&F 1E 46 47 93/ 15.0/ 78.0
206 3R FHHER 50 44 94/ 15.0/ 79.0
AR 90 48 98/ 19.0/ 79.0
2205 |l RER 50 48 98/ 19.0/ 79.0
2361 @)l RR 90 51| 101 22.0/ 79.0
2461 (BT = 52 44 96, 16.0 80.0
2511 |%H &BX o1 44 95/ 15.0/ 80.0
2641 \(fEmE B 50 45 95/ 15.0/ 80.0
261 BB =HE 46 92 98 18.0/ 80.0
281 |RIR  #EAD 46/ 50, 96 15.0/ 81.0
2961 (A KD 45 o4 99, 15.0/ 84.0
304 |#AAK  gkif 50| 52 102 16.0 86.0
1L HH E o1 61 112) 26.0| 86.0
3261 \HhH Hit 56 52/ 108/ 20.0| 88.0
3L EA BA 93 53| 106/ 17.0| 89.0
P-1 7A/ILTa—2R




